Residuals

+/Standardized residuals|

15

1.0

05

0.0

Residuals vs Fitted

10 15 20 25

ed values
Im(totalcorrect ~ age + sex + marital_status + left_handed + education + nu ..

Scale-Location

ed values
Im(totalcorrect ~ age + sex + marital_status + left_handed + education + nu ..

Standardized residuals

Standardized residuals

Normal Q-Q
o
L
T T T T T
4 2 0 2 4
Theoretical Quantiles
Im(totalcorrect ~ age + sex + marital_status + left_handed + education + nu ...
Residuals vs Leverage
42120
o ©°
o0 °
g@ o
37660
Cook's distance
T T T T T T
0.000 0.005 0.010 0.015 0.020 0.025 0.030

Leverage
Im(totalcorrect ~ age + sex + marital_status + left_handed + education + nu



